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26. T2 ArZtH| o] HE 0] 85} sin15° + tan 16° — cos 14° 9] ZF&

Fotofel,

e A

Ql(sin) FARl(cos) | EFHIE(tan)
14° 0.2419 0.9703 0.2493
15° 0.2588 0.9659 0.2679
16° 0.2756 0.9613 0.2867

>
[> HE T —0.4248

sin15° —cos14° + tan 16 °
= 0.2588 — 0.9703 + 0.2867 = —0.4248




27. sin(2x + 30°) = cos(3y — 45°) & o, 4x —y O] & FSHH? (H,
0° < x<30° 15° <y <45°)
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Holth.AABC o] E¢|9] Aol& Fstofzt.

~&B

(AABC ] E9))

Il
—
W~

+AC+BC
+AC+BD+DC
+AC+BE+CF
+ AF

I
5l &l &l &
gl W ™

+ 14 = 28
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@ sin?30° + cos?60° = 3
@COS30° 4+ cos60° = cos90°
@ sin45° = cos45° X tan 45 °

® sin?30° +cos?30° =1
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B

olm& AC xsin A = BC ©|t}.

G|~

sin A =

= &ll&

=>A_C><5:12,E:15

w2k AC - AB = 15-9 = 6 ot}

oetratA Ao o5 AB = V152 — 122 = 9 o|t},




o2 d"oA /BAC = 90° o],
BCLAHO|t}. (CAH = xg & of,

tan x 9] 327
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9 3
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x = /ABC ©|EZ tanx =1
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BC B,C; 6 3
AC AC, 10 5
AB AB;, 8 4
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